
1

A

2 3 4 5 6 7 8

1 2 3 4 5 6 7 8

B

C

D

E

F

A

B

C

D

E

F

Dept. Technical reference Created by Approved by

Document type Document status

Title DWG No.

Rev. Date of issue Sheet

10/30/18

1/5

WFoV Rev. 2.7

Leslie Shaw

2 7 1 13 11 14 6 9 3 5 84

15

1 McMaster 90935A135

Phillips rounded head screw 4-40, 

1

2

"

60

2 McMaster 90935A137

Phillips rounded head screw 4-40, 

3

4

"

4

3 McMaster 94323A319

Nylon Thumb Screw 

1

4

" - 20, 

1

2

" Long

6

4 McMaster 8478A5 Plate Mount Retractable Spring Plunger 3

5 McMaster 91802A192

Phillips Oval Head Screw 8-32, 

3

8

" Long

6

6 McMaster 90480A009 8-32 Steel Hex Nut 6

7 McMaster 96765A110 Steel Washer 18-8 4

8 McMaster 9753K12 Vinyl push-on round cap 3

9 McMaster 94812A700

Black Nylon Hex Nut 

1

4

" - 20

4

10 McMaster 95495K11 Rubber Adhesive-Back Bumper (Black) 4

11 McMaster 98381A381

Dowel Pin 

1

32

" Diameter, 

1

2

" Long

(optional)

8

12 McMaster 7130K102

Nylon Cable Tie, 3" Long, 

5

8

" Diameter

14

13 uscutter ORS6312410 Grey: Oracal - 631 Color #074 Matte 4

14 uscutter ORS6312410 Black: Oracal - 631 Color#070 Matte 1

15 uscutter ORS6312410 White: Oracal - 631 Color #010 Matte 1

16 Hitlights L1012V-302-1

630-U

12V 16.4 ft LED Strip Lights, 384

lumens/ft, Warm White 3000K

1

17 Hitlights PWR-12V-06

0-30-U

60 Watt DC Power Supply (UL-Listed) -

12 Volt

1

18 6mm ABS (Acrylonitrile butadiene

styrene)

18



1

A

2 3 4 5 6 7 8

1 2 3 4 5 6 7 8

B

C

D

E

F

A

B

C

D

E

F

Dept. Technical reference Created by Approved by

Document type Document status

Title DWG No.

Rev. Date of issue Sheet

10/30/18

2/5

WFoV Rev. 2.7

Leslie Shaw

12

11

16

Install the ABS light frame within the box without the front

and back covered, then wrap the light strips around it

and fix its position with zip ties. Lead the power supply

out through the mouse hole on the right side of the box.



1

A

2 3 4 5 6 7 8

1 2 3 4 5 6 7 8

B

C

D

E

F

A

B

C

D

E

F

Dept. Technical reference Created by Approved by

Document type Document status

Title DWG No.

Rev. Date of issue Sheet

10/30/18

3/5

WFoV Rev. 2.7

Leslie Shaw

2
0

8

23

6
5

127

Aluminum with sandblast finish

Ø10.16

Ø3.45

8
.
2

3
8

25.4

6.6

5
.
7

2
4

.
5

5
0

5
0

6
.
3

6
.
3

5
0

1
0

8
5

0

3
8



1

A

2 3 4 5 6 7 8

1 2 3 4 5 6 7 8

B

C

D

E

F

A

B

C

D

E

F

Dept. Technical reference Created by Approved by

Document type Document status

Title DWG No.

Rev. Date of issue Sheet

10/30/18

4/5

WFoV Rev. 2.7

Leslie Shaw

3
8

25.5

6
4
.
1
5

220.5

2
2
1

5
0

Aluminum with sandblast finish

5
0

3

8
.
2
5

Ø10

Ø3.5

6.5

23

6
.
1

5
.
9

5
.
9

6
.
1

3
2
1

1
2
3
.
3
5



1

A

2 3 4 5 6 7 8

1 2 3 4 5 6 7 8

B

C

D

E

F

A

B

C

D

E

F

Dept. Technical reference Created by Approved by

Document type Document status

Title DWG No.

Rev. Date of issue Sheet

10/30/18

5/5

WFoV Rev. 2.7

Leslie Shaw

1

4

" - 20 tap for all 6 holes

1

4

" - 20 tap for all 12 holes

4-40 tap for all 4 holes

4-40 tap for all 4 holes


